## ORIGINAL

## Kansas Corporation Commission Oil & Gas Conservation Division

HMD 0 6 2001

Form ACO-1

September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL AND LEASE

		A DIGINAL
Operator: License #	5363	API No. 15 - 119-21035-000 <b>0</b> UNIUINAL
Name:	BEREXCO INC.	County: MEADE
Address	100 N BROADWAY, STE 970	
City/State/Zip	WICHITA, KS 67202	1320' feet from S N (circle one) Line of Section
Purchaser:		330' feet from E W (circle one) Line of Section
Operator Contact Pers	on: GARY MISAK	Footages Calculated from Nearest Outside Section Corner:
Phone (316) 265-33		(circle one) NE SE NW SW
Contractor: Name:	ABERCROMBIE RTD INC.	Lease Name: PAINTER UNIT Well # 2
License:	5422	Field Name: MCKINNEY
Wellsite Geologist:	EDWIN H. GRIEVES	Producing Formation: CHESTER
Designate Type of Cor	mpletion	Elevation: Ground: 2373' Kelly Bushing: 2378'
X_New Well	Re-Entry Workover	Total Depth: 6154' Plug Back Total Depth: 6098'
OilSW	/DSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented atFeet
GasEN	HRSIGW	Multiple Stage Cementing Collar Used? Yes X No
DryOth	ner (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-Entry;	old well info as follows:	if Alternate II completion, cement circulated from 6151'
Operator:	<u> </u>	feet depth to
Well Name:	Original Total Depth:	Drilling Fluid Management Plan  (Polo delicity sollacted from the Research Bit)  (Polo delicity sollacted from the Research Bit)
· · _	Re-Perf Conv tolini / SWD Plug Back Total Depth	Chloride Content 2800 ppm Fluid Volume 150 bbls  Dewatering method used EVAPORATION  Location of fluid disposal if hauled offsite:
Dual Completion	Docket No.	- Constables
Other ( SWD or Ir	nj ?) Docket No.	Operator Name: Lease Name: License No:
11/14/00 Spud Date or Recompletion Date	11/27/00 01/03/01  Date Reached TD Completion Date or Recompletion Date	
Kansas, 67202, within Information on side to for confidentiality in e	n 120 days of the spud date, recompletion, wor wo of this form will be held confidential for a pe excess of 12 months). One copy of all wireline t	led with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita brkover or conversion of a well. Rule 82-2-130, 82-3-106 and 82-3-107 apply, eriod of 12 months if requested in writing and submitted with the form (see rule 82-3-107 logs and geologist well report shall be attached with this form. ALL CEMENTING ells. Submit CP-111 form with all temporarily abandoned wells.
	statutes, rules and regulations promulgated to ad correct to the best of my knowledge.	o regulate the oil and gas industry have been fully complied with and the statements
Signature:	Han Misah	KCC Office Use ONLY
Title: Division	Engineer Date: 3/6	Letter of Confidentiality Attacifed
Subscribed and sworn 2001.	17 M	If Denied, Yes Date: Wireline Log Received
Notacy Public:	DIANA, E. PLOTNER Mana C	Geologist Report Received
Date Committee Exp	NOTARY, PUBLIC ires STATE OF KANSAS Aug 10 Ay, Appl. Exp. 2-0-03	UIC Distribution

				Side Two			17 / 216	
Operator Name: B	EREXCO INC.			_ Lease Nam	ne: PAINTER UNIT	Γ	Well # 2	·
Sec. 8 Twp. 3	34_ S. Rge. <u>26 W</u>			County:	MEADE		\$ 1. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4. 4.	_
INSTRUCTIONS: Sho	ow important tops and closed flow overy, and flow rate	ing and shut-in pes if gas to surf	pressure, face test,	, whether shut-in , along with final c	ail all cores. Report al n pressure reached stat chart(s). Attach extra st	itic level, hydrostat	giving interval ic pressure, bottom hole ce is needed. Attach copy of all	_ 
Drill Stem Tests Taken (Attach Additiona		X Yes	□No	XLog	Formation (Top), Depti	th and Datum	Sample	_
Samples Sent to Geolo	gical Survey	X Yes	□No	Name BASE HEEI	BNER	Top 4553	Datum (-2175)	
Cores Taken		Yes	XNo	LANSING MARMATO		4722 5380	(-2344) (-3002)	
Electric Log Run (Submit Copy.)		X Yes	□No	CHEROKEE MORROW CHESTER TD	E	5572 5866 5923 6153	(-3194) (-3488) (-3545) (-3775)	
L.SI Al! E Logs Run SONIC CEMENT DUAL INDUCTIO MICRO COMPENSATED		ON PE						
		CASING RE		New Luctor surface inte	Used grmediate, production, et	to	<del></del>	7
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weigh Lbs/F	nt Setting	Type Or Cement	# Sacks Used	Type and Percent Additives	
Surface	12 1/4	8 5/8	_28	1342	LITE/COM.	550/150	3%CC, 1/4#/sx FLOSEAL	_
Production	7 7/8	5 1/2	14/15	6154	LITE/ASC.	200/175	5# GILSONITE	-
. '		];	·					]
Purpose:	Depth	ADD	HONAL	# Sacks	QUEEZE RECORD			1
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bot	tom Type	of Cemer	nt Used		Type and Percen	t Additives	-
	PERFORATION R				Acid, Fracture, Shot, (			- 7
Shots Per Foot		ge of Each Inter 5941-49	val Pert		( Amount and Kin 00 gals 15% HCL, 50 bal	nd of Material Use		+
4spf	_	1941 <b>-</b> 49 & 5969-8:	2			10,000 gals Gel wtr		4
TUBING RECORD	Size 2 3/8	Set At 5921'		ker At Line	er Run	No		
Date of First, Resume	ed Production, SWI 1/3/01	O or Inj		ing Method Flowing Pun	mping Gas Lift	Other (Explain	7)	-
Estimated Production	<del>   </del>	Oil Bbls.		as Mcf	Water Bbls.	Gas - Oil Rati		-
Per 24 Hours				200	TR.	N/A	·	
Disposition of Gas				OD OF COMPLET		<del>_</del>	Production Interval	
VentedX_So		n Lease	Oper	n Hole X Perf	fDually Comp	Commingle		-/
(II ventea, su	ıbmit ACO-18.)		□∩the	er (Specify)			5969-82'	-

KCC

**DRILL STEM TESTS** 

[11] 0 6 2001

CONFIDENTIAL

**PAINTER UNIT #2** 

MEADE COUNTY Sec. 8 - T34S - R26W ORIGINAL

DST #1

Chester D-1 5940-50'

Rec 5' mud

Gas rate 12 MCF/d @ end of 2nd flow

Times - 30/60/60/120 IFP - 16-19# FFP - 12-10# ISIP - 1921# FSIP - 1923# CONFIDENTIAL

DST#2

Chester D-2 5958-6015'

Rec 80" GCM

Gas Rate - 32 MCF/D on 2nd flow

Times - 30/60/60/120 IFP - 29-37# FFP 19-49# ISIP - 1393# FSIP - 1389#

LL OK 2008 ORIGINAL

## LIVIEIN I IINGIGGIAING.

Federal Tax I.D.# 48-0727860

<b>REMIT TO</b>	P.O. BOX 31
	RUSSELL, KANSAS 67665

SERVICE POINT:

RUSSELL, KANSAS 67665	MED Lodge
DATE 11-17-00 SEC TWP RANGE C.	ALLED OUT ON LOCATION JOB START JOB FINISH
	2000-11W-5N COUNTY STATE
OLD OR (NEW Circle one) / E - South	
CONTRACTOR ABERCAON DE Delq.	OWNER BEREXCO INC.
TYPE OF JOB LONG STRING	OWNER DE LE KON
HOLE SIZE 7 78 3 T.D. 6159	CEMENT ,
CASING SIZE 54 DEPTH 6151	AMOUNT ORDERED 200 3 Ks 65/35:6 +
TUBING SIZE DEPTH	14/6 Plo-Seal - 175 sks ASC +
DRILL PIPE DEPTH	5# Kol-seal pu sks,
TOOL DEPTH	, , , , ,
PRES. MAX MINIMUM	COMMON@
MEAS. LINE SHOE JOINT 42	POZMIX@
CEMENT LEFT IN CSG. 424.	GEL@
PERFS.	CHLORIDE@
DISPLACEMENT 149 bbls.	ALW 200 @ 7.05 1410.00
EQUIPMENT	ASC 175 @ 9.05 1583.75
	KOL-SEAL 875# @ .38 33250
PUMPTRUCK CEMENTER LARRY STORM	FLO-SEAL 50# @ 1.15 57.50
#356-301 HELPER DANGE WEST	<u>DEAPRO</u> 5 BOLS @ 22.90 114.50
BULK TRUCK	HANDLING 425 @ 1.05 446.25
#353-'251 DRIVER Scott	MILEAGE 425 X 75 .04 1275.00
BULK TRUCK	Cn/0.0
# DRIVER	TOTAL Salg.So
REMARKS:	SERVICE
Ran 52 cou to depth 6151 - Broke	
Carculateo Dowith Rotary, Plugger Enthole	DEPTH OF JOB 6/5/
and mousehole - Mizero 175 stes 65/35:6 AND	PUMP TRUCK CHARGE 1464.00
tarled with 175 sks ASC+ 570 Kol-Seal	EXTRA FOOTAGE@
Follower 50 Holy 27 KCh and 99 Hols Fresh	MILEAGE 75 @ 3.00 225.00
unter on displacement, Aly Large	PLUG 51. TRP @ 50.00 50.00
Pressures to 200th - Pelensers Flort deld	/@
	@
$\sim$	TOTAL 1739.00
CHARGE TO: BEREYCO LUC.	
STREET 100 N Broadway Ste 970	ELOAT EOLIDMENT
	FLOAT EQUIPMENT
CITY WICHITA STATE KS ZIP 67200	4 (0) (0) (0)
	(- 60-DF )HDE @ 150.00 150.00
	1- AFU FLOAT COLLAR @ 265.00 265.00
•	1-Stop KING @ 20.00 20.00

To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

@ 30.00 30.00

TOTAL 1165.00

total charge <u>8/23.</u> So

DISCOUNT -

- IF PAID IN 30 DAYS

PRINTED NAME

KCC

CONFIDENTIAL CONFIDENTIAL ORIGINAL

Federal Tax I.D	) # 48-0727860
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	WW TUSERVICE POINT:
lang lawn lawar	<u> </u>
	ALLED OUT ON LOCATION JOB START JOB FINISH 4:10
LEASE PAINTER WELL# 2 LOCATION EN ELLOS	DO 11W-5W-1E MEADE KS
OLD OR NEW (Circle one) South to Eq	
	R 122
CONTRACTOR ADECOMBRE ANDS TYPE OF JOB SURFACE PODE	OWNER BROCKCO LNC
HOLE SIZE 124 T.D. 1346	CEMENT
CASING SIZE 859 DEPTH 1342	AMOUNT ORDERED 550 ks 65/35 6 3% CACL
TUBING SIZE DEPTH	4 16 Flower 150sks A 3% CACH2
DRILL PIPE DEPTH	14 to 10 Jen 13085 H 3/6 UHUL
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 150-ks A @ 7.55 1132,50
MEAS. LINE SHOE JOINT 43	POZMIX 13/E 5501/5@ 7.05 3877.50
CEMENT LEFT IN CSG. 43	GEL @
PERFS.	CHLORIDE 22 sks @ 28.00 lolb.00
DISPLACEMENT 81.08 W/s	Flo-sen 138# @ 1.15 158.70
	@ (.,, S
EQUIPMENT	
PUMPTRUCK CEMENTER LARRY STORM	@ ·
#356-302 HELPER DOPO W.	HANDLING 749 @ 1.05 786,45
BULK TRUCK	MILEAGE 44 X 749 X 75 2247,00
#240-250 DRIVER_ ASON	Maria Maria
BULK TRUCK	TOTAL 8818 15
#353-151 DRIVER KEURW.	IUIAL DATA
REMARKS:	SERVICE
Rooks Con Jule - et Poton M.	
- 15 17 15 15 75   5 1 17 14 14 15 15 15 15 15 15 15 15 15 15 15 15 15	( )
M9, 50 550 che 15/35 1 2010 0001 1	DEPTH OF IOP 12//
MQUED 550 5KS 65/35 6 3070 CAULA	DEPTH OF JOB /3.46
MPLED 550 JKS 65/35 6 370 CALLA A MOJEAL TAPLED 150 JKS CHASA 373	PUMP TRUCK CHARGE 470.00
MPLED 550 oks 65/35 6 370 CACLA A MO-JEAN TAPIED 150 oks CHASA 373 CALLA MAD GODD CREWLANDON CREWLANDON	PUMP TRUCK CHARGE 470.00 EXTRA FOOTAGE 1046H @ 43 449.78
	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ .43 449.18  MILEAGE 75 m 9 3.00 225.00
	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046# @ -43 449.78  MILEAGE 75 m9 3.00 215.00  PLUG 1-858 Rubber @ 90.00 . 90.00
	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ -43 449.18  MILEAGE 75 m9123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 - 90.00
	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ -43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 : 90.00
	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00  @ @ @
CHALL MAD GOOD CROWLAGON  CREWATED COMENT TO Soulace.  ALU Moat Insert ALUQ.	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00
CHALL MAD GOOD CROWLAGON CREWATED COMENT TO Soulare.  ALU Moat Insent ALD.  CHARGE TO: BEREYCO INC	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046ft @ .43 449.78  MILEAGE 75 m9123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00  @ TOTAL 1234.78
CHALL MAD GOOD CROWLAGON  CREWATED COMENT TO Soulace.  ALU Moat Insert ALUQ.	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ -43 449.18  MILEAGE 75 m9123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 - 90.00  @ @ @ @
CHALL MAD GOOD CREWLATON CREWLED COMENT TO Soulare.  ALU MOON INSENT AND DE  CHARGE TO: BEREVED INC  STREET 100 N Broadway Ste 970	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m 163 @ 3.00 225.00  PLUG 1-85/8 Rubber @ 90.00 . 90.00  @ TOTAL 1234.78
CHALL MAD GOOD CROWLAGON CREWATED COMENT TO Soulare.  ALU Moat Insent ALD.  CHARGE TO: BEREYCO INC	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ -43 449.78  MILEAGE 75 m 1123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 - 90.00  @  TOTAL 1234.78
CHALL MAD GOOD CREWLATON CREWLED COMENT TO Soulare.  ALU MOON INSENT AND DE  CHARGE TO: BEREVED INC  STREET 100 N Broadway Ste 970	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ -43 449.78  MILEAGE 75 m 953 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 - 90.00   TOTAL 1234.78  FLOAT EQUIPMENT  1-858 Sawbooth B.S. @ 20.00 300.00
CHALL MAD GOOD CREWLATON CREWLED COMENT TO Soulare.  ALU MOON INSENT AND DE  CHARGE TO: BEREVED INC  STREET 100 N Broadway Ste 970	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046H @ .43 449.18  MILEAGE 75 m9123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-858 April Tusert 146@ 325.00 325.00
CHALL MAD GOOD CREWLATON CREWLED COMENT TO Soulare.  ALU MOON INSENT AND DE  CHARGE TO: BEREVED INC  STREET 100 N Broadway Ste 970	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046ft @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-85/8 Rubber @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-85/8 AFU Tweet 146@ 325.00 325.00
CHALL MAD GOOD CREWLAND  CREWLATED COMPUTED SANGER.  ALU MOST INSENT AND SANGER.  CHARGE TO: BEREYCO INC.  STREET 100 N Broadway Ste 970  CITY WIGHT STATE KS ZIP 67202	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 1046ft @ .43 449.78  MILEAGE 75 m9123 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tusert 1412 325.00 325.00 1-858 Bestet @ 180.00 180.00
CHARGE TO: BEREYCO TWC  STREET 100 N Broadway Ste 970  CITY WICHITA STATE K 5 ZIP 67202	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber. @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tweet 146@ 325.00 325.00 1-858 Besket @ 180.00 180.00 3-858 (Luterlizers @ 55.00 165.00
CHARGE TO: BEREYCO TWC  STREET 100 N Broadway Ste 970  CITY WIGHTA STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber. @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tweet 146@ 325.00 325.00 1-858 Besket @ 180.00 180.00 3-858 (Luterlizers @ 55.00 165.00
CHARGE TO: BEREYCO TWO  STREET 100 N Broadway Ste 970  CITY WICH CTA STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m 9 3.00 215.00  PLUG 1-858 Rubber @ 90.00 . 90.00   TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tusert 141.69 325.00 325.00  1-858 Bestet @ 180.00 180.00  3-858 Center 12505 @ 55.00 165.00
CHARGE TO: BEREVCO TWO  STREET 100 N Broadway Ste 970  CITY Wight STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m 9 3.00 215.00  PLUG 1-858 Rubber @ 90.00 . 90.00   TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tweet 146@ 325.00 325.00  1-858 Bracet @ 180.00 180.00  3-858 (enterlizers @ 55.00 165.00  @
CHARGE TO: BEREYCO TWO  STREET 100 N Broadway Ste 970  CITY Wich are STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m963 @ 3.00 225.00  PLUG 1-858 Rubber. @ 90.00 . 90.00  @  TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tweet 146@ 325.00 325.00 1-858 Besket @ 180.00 180.00 3-858 (Luterlizers @ 55.00 165.00
CHARGE TO: BEREYCO TWC  STREET 100 N Broadway Ste 970  CITY Wich To STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 miles @ 3.00 205.00  PLUG 1-858 Rubber @ 90.00 . 90.00   TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Insert (460 225.00 325.00 1-858 Basket @ 180.00 180.00 325.00  3-858 Centerlizers @ 55.00 165.00  TOTAL 970.00
CHARGE TO: BEREYCO TWO  STREET 100 N Broadway Ste 970  CITY Wich are STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m?(53 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00   TOTAL 1234.76  FLOAT EQUIPMENT  1-858 Restet @ 180.00 325.00 1-858 Restet @ 180.00 180.00 3-858 Center/2555 @ 55.00 165.00  TOTAL 970.00  TAX
CHARGE TO: BEREYCO TWC  STREET 100 N Broadway Ste 970  CITY Wich To STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ .43 449.78  MILEAGE 75 m? 53 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 . 90.00   TOTAL 1234.76  FLOAT EQUIPMENT  1-858 Restet @ 180.00 325.00 1-858 Restet @ 180.00 180.00 3-858 Center 1252 @ 55.00 165.00  TOTAL 970.00  TAX
CHARGE TO: BEREYCO TWC  STREET 100 N Broadway Ste 970  CITY Wich To STATE KS ZIP 67202  To Allied Cementing Co., Inc.  You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	PUMP TRUCK CHARGE 470.00  EXTRA FOOTAGE 10464 @ -43 449.78  MILEAGE 75 m 1 23 @ 3.00 225.00  PLUG 1-858 Rubber @ 90.00 - 90.00   TOTAL 1234.78  FLOAT EQUIPMENT  1-858 AFU Tusert 141.2 225.00 325.00  1-858 Reset @ 180.00 180.00  3-858 Center 12225 @ 55.00 165.00  TOTAL 970.00  TAX